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1#H (.:-0. 9) 2%H. (0. 4)

NERE V= fun' - K4 i gk 2AVh G@IE EGL Vv P - KA i gk aAVL @i
1 4 3090 % Hid (1) JIEEF 12.95 a 1 4 3149 K WEEQ) i 13.21 a
2 7 3919 HA Bk() B 13.51 2 7 3908 Lo (1) FHEFH 13.24 a
3 5 2842 ffl fmilE(D)  WNELH 13.88 3 5 3062 EH w1 HHF 14. 37
4 6 1532 JIF fpse(1) 14. 57 4 8 1530 AR KIRQ1) A 14. 45
5 9 3048 FAH EM1) wHHS 14.73 5 6 5725 fREF K—(1) Y.W.C 14. 47
6 8 3148 WIE Hich (1) kA 15.01 6 9 3067 #k (1) FRH 14. 80
73 3519 #aXi tE— (1D [LFH 15. 09 72 2846 METRAMBAK()  NERH 15. 68
8 2 3923 M MEEE(1) HREH 15. 84 8 3 3347 JRESHEKES(D) VR 17. 44
9 1 3729 HE YR (1) PO E R 16. 19

3% (.:-0. 1) 458 (J:+0. 3)

NERL V= Fun = K4 i Rogk aAvbh dEE AL Vv duy - R4 i FLEk /b @I
1 5 3055 filJl BEK(1) HWIHHF 12. 66 q 1 4 3513 TR H#£h(1) [LFH 12. 60 q
2 4 3515 ZHj#E f2 (1)  [WFEp 14.08 2 5 3903 miMH  a9fE() B 13.81
36 1534 Bk MEIK(1) HaEs 14. 31 3 6 1486 MAEIE () fRxH 14. 35
4 7 3900 [LUA FHEQ)  HKEPH 14. 38 4 9 2844 FEAR K—(1) WHEHF 14. 62
5 8 3916 TE (1) #EEFT 14. 54 5 7 1537 JEH  KFH(Q) 14.79
6 1 3074 ARWE ZE3H(1)  HHEAF 14. 88 6 8 3726 ML fpEk(1)  POHTRH 15. 14
73 3727 #% M (1) AR 14. 99 7 3 3065 RER BR() RS 15.29
8 9 3163 jEM BAEE(1) AP 15.20 8 2 3914 Egf (D) IREPHR 15.82
9 2 3344 /K H(1) J\JRH 15.81 1 5844 #&F stk Y.W.C DNS

5%H (J&:+0. 3) 6%H. (J&.:+0. 9)

NERE V= fun' - K4 i RLEk 2AVh G@IE EGL Vv Py - KA i gk aAVh @i
1 5 2843 1§ DhEE (1) PR 12. 47 q 1 4 3046 P $REk (1) sHEA 13. 37
2 6 1531 JIRS MEpk(1) waas 13. 42 2 5 3912 JIEEZE0)  IKEF 13.87
3 4 3057 REEmEARM () wHHHEF 14.01 3 6 3162 ERJIEK) P 14.21
49 3092 B = (1) i 14.52 4 7 3724 WHEARMIQ) AT F 14.25
5 7 1484 dB)Il P (1) fRxr 14. 62 5 9 3512 /R HFHE() (LT 14.90
6 2 3508 M PEEE()  (LFH 15. 10 6 1 3076 HiE () @AS 14. 92
7 8 3159 HE  AER() A 15.22 7 8 3343 dbo Bk VA 15. 27
8 3 3907 Wl EMQO) KEHF 15. 48 8 3 1535 HPE AR (1) s 15. 56
9 1 3904 il FE(1) KB 16. 08 9 2 3910 H—FLMECQ1) B 16. 27

THE (541, 0) 80 (ja:+0. 5)

NERL V= Fun = K4 iz gk aAvbh dEE AL vy duy - R4 i BLEk /b @I
1 4 1284 KRB HEA(Q) 12. 80 a 1 4 2848 ¥EH WRA(D)  AEH 12.53 q
2 5 3342 L ) JUE A 13. 84 2 5 3151 /R sEKRQ)  FER 13.25
37 3147 HiH M) AT 13. 86 3 6 3345 imiE B \EHF 14. 52
4 1 5666 FJE FEMEQA) T AU—RY 13.95 4 9 1528 A wmEER(1) S 14. 63
5 6 3725 #k E# (D) MAdREP 14. 34 5 3 3728 FHiL K PMAMES 14. 95
6 8 3507 (iR (1) [LFEHf 14. 47 6 8 3052 dukf =) wHAEH 15.19
7 9 1533 FHL A () FEG 15.99 72 1529 HME HK()  EES 15. 84
8 2 3918 LA P IEFp 16. 28 8 1 3909 ZjE M)  EF 16.17

3 3072 A Q) HIHF DNS 7 3906 /hEFOHK (1) FKEH DNS



